Merlin Class
Year 1

Maths - Learning Pack




We have created a task for you to complete each day and have
labelled them so you know what is being done in school . Please feel
free to do more if you and your child would like to do so. We hope
you enjoy the tasks we have set for you.

Here are some resources to help you:
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Week 1

Monday- Add by making 10

—

Use the ten frames and part-whole models to find the total
The first one has been completed for you.

@ | Sue has & sweets. She gets 7 more.
How many altogether?
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b | Dom has 8 cookies. He gets 7 maore.
How many altogether?

oooooilxj! *
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€ | Che has 5 apples. He gets & more.
How many altogether?
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d | Kat has 9 pens. She gets 8 mare.
How many altogether?
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Use the ten frames and partwhole models to find the total

Matt has & oranges. He gets 9 more.
How many altogether?
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Kat has 3 sweets. She gets & more.

How many altogether?
Q@O0 ~1. r1. 1. -
ololololo] A |

O

Dom has 2 bananas. He gets 9 more.

How many altogether?

@[@[O[C[0] -
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Jess has 8 chocolates. She gets 5 more.

How many altogether?
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Tuesday — Add by making 10

Jess has used a part-whole Dom says number line below represents & + 5.
model to represent 3 + 8.

12 I A
I O L O L D O O O D O D O
- » a1 2 I 4 5 & 7 8 9 MWo171 12 12 14 15 & 17 18 19 2D

g )

R
. -”JK“* Is Dom correct? If not, how could he correct it?

Is Jess correct?
Explain how you know.

How many different addition number sentences can you make that give the answer 137
Use the number line to help you.

Draw yellow counters on the ten frame to give a total more than 10 but less than 14.
Then complete the numbers sentences to show adding by making 10.

:oooo P B s B e

N\

N

,

Explain how you know if the number line shows 8 + 6. How many different ways can

U ——_— be part-whole model be
T ?
e
0 1 2 3 4 5 & 7 B 9101112 13 14 15 16 17 18 19 20

(in)

Represent this as number sentences to show adding by making 10.
[ -é = - = B
LKM L= 0-00-1 <? N

5
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Wednesday — Subtraction (how many more)

1

Complete the caloulations and bar models to sobve each problem

12
Ben has 12 apples
[T 17111 Gina has 7 apples.
2 How many more apples
- = does Ben have?
17
Tam has 17 peaches
HEEEEEEEEEEEEEEN P
| | | | | | | | ‘ Jack has - FIEEI.IZI'IE‘S-.
How many more peaches
- - does Tam have?
: Domhas _ sweets
HEEEN HEN Kat has 5 sweets.
[T} : .
oW Many more sweets
. - = does Dom have?

Jess Jesshas ___ pears
HEEEEEEEEEEEEN Mohas _ pears
HEEEEEN, * How many more pears

Mo - = does Jess have?
Che
Chehas _ cakes.
[T TTITIIT] rha b et
| || i How many more cakes
Asha - = does Che have?
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Thursday -Subtraction challenge:

Spot and explain the mistake:

15-9 | > | 14-8

If I start with 16
balloons, then give 9
-

away, I will have & left.

16-8 | = | 11-3
True or false? Explain your answer.
12-6 | < | 14-7 Draw the problem using counters to prove it.
Ben I_'ms 17 apples. Use <, > and = to complete the following:
He gives 8 apples to Jess.
Who has the most apples?
17 -8 13-4
Explain your answer and complete the
calculation to prove it. 13-5 1619
) B 15-8 17 -9
The number line represents the following calculation:
|- 5|=|10|—|[10|-]2|=]|28
2N SN
-t rrr" 1ttt 11T 17T T T T7T"]
o 1 2 3 4 5 & 7 9 10 11 12 13 14 15 18 17 18 19 20

True or false? Explain your answer.

ﬂﬂ s _ -~ | Sue had 13 marbles.
@ I started with 12 sweets She gave some to Mo and had 7 left.

J:x then ate 5 of them. ) Draw counters below to represent this.
Did Kat have more than 8 left? Prove it.
Y N How many marbles does Mo have?

Who has the most marbles?

Page 8 of 16



Friday — Place Value within 50

1

Count forwards from 8.

10 13 14
Count forwards from 18.
18 21 24
Count forwards from 253.
26 29 31
Count forwards from 39.
39 41 45
Count backwards jrom 42.
41 37
Count backwards from 34.
34 28
Count backwards from 50.
48 47
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Week 2

Monday- Place value within 50

1

Match the picture representation to the correct number.

AERREEREEN)
ITTITIiT1
T
24 42 40
Match the calculations to the correct answers.
30+ 8 13
10+9 28
40 + 4 38
3+10 35
8+ 20 A4
5+ 30 37
30+7 19
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Tuesday — Representing numbers up to 50

Complete the table.

Number Tens and Ones Ten Frame
s
2ens | (el [@e] [ore
8 ones 90 9@ il
o0 00 |00
o0 (@
ten ||9© 9O
19 - 20 00
ones 99 @
LICIRL L)
3338
3 tens ii _.._E e
2 ones oo o0 e @
o[®) @0 0
25 2 tens
5 ones
15 1 ten
5 ones
o0 o0 o0 o6
s | 1900000 0o
46 - o0 00 00 @0
ones (|90 0008  0e
oo oo oo o6
23 2 tens
3 ones
90 00 e @
3 tens UD DD []D L J
o0 00 o0 @ |
7 ones o0 oo o0 ee
o0 00 @0 00
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Wednesday - Representing numbers up to 50 challenge:

The picture shows 41 The number represented by the frames is

1 more than the number

True or false?
Explain how you know.

aaaa

0000
000eo
00000
0000
0000 e

How else can you represent 417

Draw 2 different ways of showing:

The picture shows the
@ number 25. 2 tens and 4 ones

Is Che correct? Explain how you know.

How else could you represent 25?

Draw 2 different ways of showing: 2 tens and 3 tens and 7 ones = 67

3 tens and 6 ones

True or false?
Explain how you know.

Complete:

1 ten and tens and 9 ones = 49

Spot the mistake. Explain how it can be corrected. Then complete the rest of the table.

Number | Tens and Ones Ten Frames Base 10 Words
00 0@ e | | |
o0 o0 @0 @ ]
34 oo oo oo @ | ) thirty-four

o0 00 o6 & ]
@0 oe 0@ @ |
90 o0 o0 @0 =

4 tens o0 o0 o o | | | -
o0 00 @6 &6 @ |

3 ones oo [o/0| @0 (@0 @ | o
90 o0 o0 oo @ a
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Thursday - One more than, one less than

1 Find one more and one less than the numbers shown on the number tracks.

e 1112 (13| 14 [ 15| 16 |(17)[ 18 | 19 | 20

One more than is . One less than Is
’ 20 | 21 | 22 |(23)| 24 | 25 | 26 | 27 | 28 | 20

One more than is . One less than Is
. 31| 32 \33 34 | 35 | 36 | 37 | 38| 39 | 40

One more than Is . One less than Is
d 40 | 41 | 42 | 43 | 44 | 45 | 4b | 47 \48\ 49

One more than is . One less than Is

2 Find one more and one less than the numbers shown on the number lines.

a (10 11 12 13 14 15 16 17 18 19 ED:';EII\_IEE 23 24 25 26 27 28 29 30
N I I I Y I e o A N I IS O O

One more than is . One less than is

b |15 16 17 18 19 20 21 22 23 24 25 26 27 28['-.2'1\_:3[] 31 32 33 34 35
+ ]

I S A S N [N N O N N

One more than s . One less than 3

C (20 21 22 23 24 25 26 27 28 29 30 31 32 33 3&::'35\:'3-5 37 38 39 40
I I s e [ N N B

One more than s . One less than is

d |30 31 32 33 35 35 36 37 38 30 40 41 42 43 44 45(46)47 48 49 50
N I I S Y I I N e ot A N

One more than is . One less than is
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Friday - One more than, one less than challenge:

Complete the sentences by finding one maore.
When you find one more than a

a is one more than 17. given number, the only digit that
o changes is the ones digit.

b One more than is 26.

i Always, sometimes or never?
c is one more than 34.

d One more than 48 is

Use the clues to identify the number. Complete the sentences.

= [ have one ten.

___is one more than 18
= The ones number is one less than 5.

which is one more than .

What is the number?

) ) which is one more than
Write your own clues to describe a number

and ask a partner to solve it.

Circle all the numbers that are one more

Complete the sentences to make them true.
than an even number.

25 38 18 49 32 is one less than

33 24 N 15 46 which is one less than __

How do you know? which is one less than __
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Cut and glue to match the nurrber to the plcture representation

Extra activities:

Match u

I e I I

< ~N | O
< — | ™

29
36

| | | | I
- - - | A L —
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